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= N W

01 A28 H =dl= 207,745 334,060 N 126,315
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8,310
33,239
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2,800
11,200
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9,590

480
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=z N H
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
OHM 245 Hal & WsdH+ AL W2
& 100, 000& »750! 7,500
Zopel =2t @A XA 42,000 42,000 0
307 glz2+ol & 42,000 42,000 0
10 AtEI =X 2 X 42,000 42,000 0
OZOQ SAFAHUa &I 2,000,000 12 2,000
OFeodY A XA 10,000,000& *13] 10,000
OF=ZoHelstorg =M XA
30,000,000& =13l 30,000
Zoper =X X 46,900 40,900 6,000
307 gl2tol & 46,900 40,900 6,000
03 At2lEHHE2XZ 46,900 40,900 6,000
O(ANEHI AL HHAHAE S BFAIX S
5,200,000& =14 5,200
O(AUESHMEAINZES AFAIXE
3,000,000& =14 3,000
OS2 MARZ2E AFAXER
4,500,000& =14 4,500
O(ANZJTAMBONA=XIS KA AKX
5,500,000& =14 5,500
OAMEIEXY B AFAXSR
3,400,000& =14 3,400
O(AZEE =0t g3l AFAlKXS
9,500,000& =14 9,500
O(AN ST M E I &S A=Al S
8,000,000& =14 8,000
Of= e NgMedd 1,800,000& 14 1,800
Ost= 8 THE A =X E 28 F=AKE
3,000,000 » 14! 3,000
O(A)EIIAZECES AFAXE
3,000,000 » 14! 3,000
oo #FE=0 XA 360,245 216,780 143,465
= 180,123
= 36,024
Al 144,098
101 14 Hl 360,245 216,780 143,465
= 180,123
< 36,024
Al 144,098
04 JIZtHZ2REES 360,245 216,780 143,465
OFHel #FE201 XIF 360,245,000 1Al 360,245
= 180,123
= 36,024
Al 144,098
ZOH=R LXel XA 94,687 76,922 17,765
2 47,344




N b
ARSI S X018 =
o4

X ZH
S =

Ab3l = X1

d 2 JHA=sA 58
=l

Chel: ZOHQl A& = (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 9,468
Al 37,875
307 glz2+ol & 94,687 76,922 17,765
= 47,344
< 9,468
Al 37,875
10 A3l S X2 = 94,687 76,922 17,765
OHMA=A LAel XA 94,687,000& » 14! 94,687
2 47,344
< 9,468
Al 37,875
F2E AIZTE O CHOFAF TFA A 110,053 71,483 38,570
= 88,043
< 4,402
Al 17,608
307 gl2tol& 110,053 71,483 38,570
= 88,043
< 4,402
Al 17,608
10 A2l S X2 X 110,053 71,483 38,570
OZZ2Y A2 Z 0l eHOLAL A
110,053,000& 14 110,053
= 88,043
< 4,402
Al 17,608
ool 232X FIOHKE 150,000 100,000 50,000
307 21201 A 150,000 100,000 50,000
10 A2l =S X2 X 150,000 100,000 50,000
oxofelasE2x =i XA
150,000,000 * 14 150,000
ZOHCIOLE XM X2 90,000 90,000 0
307 21201 A 90,000 90,000 0
10 AFRISXIEX 90,000 90,000 0
OO EXNAdH XA
90,000,000& =14 A& 90,000
ZOHOtSTHE X Z ALY 676,128 746,514 AT0,386
= 473,289
< 40,568
Al 162,271
307 21201 A 676,128 746,514 AT0,386
= 473,289
< 40,568
Al 162,271
05 RIZt2IE = 676,128 746,514 AT70,386
OZOOtSHE X 2 At 676,128,000& » 14! 676,128
= 473,289




N b
DAL= XI0IE &
o4

el

X ZH
S =

Ab3l = X1

d 2 JHA=sA 58
=l

ZOHQ ABIEO =0

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 40,568
Al 162,271
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< 47,808
Al 191,232
307 glz2+ol & 239,040 239,040 0
< 47,808
Al 191,232
10 A3l =X 2 X 239,040 239,040 0
SENSTEMHY 2dSEXZXNFAY
239,040,000& 14 239,040
< 47,808
Al 191,232
Z0H0ts HMASIHA 2EAY 70,000 70,000 0
307 glz2tol & 70,000 70,000 0
10 AtSI =S X2 X 70,000 70,000 0
OXliots MASTA 29
70,000,000 * 104 2 70,000
AMNEBLEHIREL ItH dHLYEXA 12,272 24,000 A11,728
= 8,590
< 737
Al 2,945
307 gl2tol & 12,272 24,000 211,728
= 8,590
< 737
Al 2,945
05 RIZIRI & 3 12,272 24,000 A11,728
OANFEAEMER2 IH gy X
12,272,000& 14 12,272
= 8,590
S 737
Al 2,945
gsrE Y Feldy 2F 30,000 30,000 0
308 A EHHSOIA 30,000 30,000 0
06 WSII20UHet2x= 30,000 30,000 0
ogsts sl2d=elstn 2% 30,000,000 1A 30,000
Z0Hots 2= XNJAHH 294 10,000 0 10,000
307 glz2tol & 10,000 0 10,000
10 AtSI =X 2 X 10,000 0 10,000
OXHols &= na 24
10,000, 000& *17H 2 10,000
ZOHQI0rSt 2&Hl X & 14,000 12,000 2,000
< 7,000
Al 7,000
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Al 418,369
10 A3l S X2 = 596,253 596, 253 0
OMIt- A =SXAIE 28l 596,253,000 14! 596,253
&2 177,884
Al 418,369
)Yz N SHUES(AESH) 4,710,360 4,327,508 382,852
< 2,355,150
Al 2,355,210
301 gt d= 4,710,360 4,327,508 382,852
= 2,355,150
Al 2,355,210
01 Ml2ZE 6= 4,710,360 4,327,508 382,852
OFIRY=3X X SHUES(MESA)
4,710,360,000& » 14! 4,710,360
< 2,355,150
Al 2,355,210
)Y N SHUES(MIHSH) 1,514,156 1,514,156 0
= 255,955
Al 1,258,201
301 LAz 1,514,156 1,514,156 0
= 255,955
Al 1,258,201
01 MI28E +06l= 1,514,156 1,514,156 0
OFIRQY+3ZX X SHUES(MIH=A)
1,514, 156,000 14 1,514,156
=2 255,955
Al 1,258,201
el A DAIE X 10,800 10,800 0
< 2,160
Al 8,640
307 21201 A 10,800 10,800 0
< 2,160
Al 8,640
10 A2l =S X2 X 10,800 10,800 0
OMA2HADANE 2L
10,800,000 * 14 10,800
< 2,160
Al 8,640
CLURIANE JISEH 102,464 1,315,071 A 1,212,607
= 51,232
< 10,247
Al 40,985
402 RIZ2tXt20l ™ 102,464 1,315,071 A 1,212,607
= 51,232
< 10,247
Al 40,985
01 RIZERI 22X 102,464 1,315,071 A 1,212,607




A AMIEX
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e ZoEXAE X (2 &HH)
5 - 4
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OLOQRAAAE JsEH 102,464
DA OIIBSHE ME(1EX)
97,176,000& 1l &~ 97,176
= 48,588
= 9,718
Al 38,870
DIOIEE LS XHAEH WE £
5,288,000 * 10 & 5,288
2 2,644
== 529
Al 2,115
COIIIAAE 22X 4,174,379 4,115,848 58,531
= 330,044
= 627,748
Al 3,216,587
Lo=sia 29| 724,540 619,540 105,000
= 86,693
Al 637,847
307 QI2t0| & 724,540 619,540 105,000
= 86,693
Al 637,847
10 Al S X2 X 724,540 619,540 105,000
OokolExa 2494 724,540,000 1l 2~ 724,540
= 86,693
Al 637,847
AWM= 29H & 15,000 15,000 0
== 4,500
Al 10,500
307 2iz2to| & 15,000 15,000 0
== 4,500
Al 10,500
10 Ml S X EX 15,000 15,000 0]
OAHM=Z 29| 15,000, 000 » 1Al 15,000
= 4,500
Al 10,500
st-olg |FAIXSE X 69,000 105,000 A 36,000
307 giztol A 59,000 97,500 A 38,500
03 Al SHHE X2 27,000 26,000 1,000
Ot Q3 AFAIXNE 29|
27,000,000 =10 & 27,000
10 Al SR EX 32,000 71,500 A 39,500
okole 849l 4,000,000 *8IH A 32,000
402 SI2vXH=20| ™ 10,000 7,500 2,500
01 812t X 10,000 7,500 2,500
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Oust-olsl =AlIXg JsEZ(PC,HAHAA,
Ol e, =A) 10,000, 000& 14 10,000
tisteolg AFAIXS XS (EHl) 40,000 0 40,000
< 12,000
Al 28,000
307 glz2tol & 40,000 0 40,000
< 12,000
Al 28,000
10 AtSI =X 2 X 40,000 0 40,000
okolthstey Z2 | (ZAkEl)
40,000,000 =14 40,000
< 12,000
Al 28,000
Iz2Y 249 N& 623,840 598,900 24,940
& 243,351
Al 380,489
201 ¢er24| 11,340 9,600 1,740
01 At 2t 2l 11,340 9,600 1,740
O1 get=2Hl 11,340
DEERY LAME B
2,100 x45000 2~ =128 11,340
307 21201 A 562,500 549,300 13,200
& 243,351
Al 319,149
10 A3l S X2 = 562,500 549,300 13,200
OZ2g 294l 494,200,000 =14 494,200
&2 243,351
Al 250,849
OZ2% =3 el gs29H|
34,200,000& =14 34,200
Od2Y I MEE It (AT AIAIY)
11,900, 000& * 14 11,900
OZ22Y MIAEEBE =5 (AHAIAY)
13,200,000& 14 13,200
Okols&adly Jt3I| At 300,000 3000 & 9,000
405 TtobH S 50,000 40,000 10,000
01 AL EZFH S 50,000 40,000 10,000
oZzg AZ&eldl ¢ 50,000,000& =14 50,000
229 gl X 592,500 577,500 15,000
< 118,500
Al 474,000
307 21201 A 592,500 577,500 15,000
< 118,500
Al 474,000
10 AFRISXIE X 592,500 577,500 15,000
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OZzg el 592,500, 000& =14 592,500
< 118,500
Al 474,000
22Y JIsEY A 302,160 323,000 220,840
401 AIEHI L 2 CHYI 302,160 323,000 220,840
01 A& HI 300,000 323,000 223,000
OZ=22Y HEX (2500 8HS)
300,000,000& 14 300,000
03 Al S HHI 2,160 0 2,160
OZ=22Y HEX(2500 8HS)
300,000,000 *0.72/100 2,160
d2g JlsEd Mg (BX) 600,000 640,000 240,000
< 300,000
Al 300,000
401 Al HIZ 201 8] 160,000 0 160,000
< 80,000
Al 80,000
01 A& HI 160,000 0 160,000
OHUTE 7 46485 B2 ME
160,000,000& * 14 160,000
< 80,000
Al 80,000
402 RIZ2EXt20l ™ 440,000 640,000 200,000
< 220,000
Al 220,000
01 RIZEAI 22X 440,000 640,000 A200,000
OSMY ZAcl(82)Z2E &=
160,000,000 * 14 160,000
< 80,000
Al 80,000
OIS 21S(2B)BRY 4S
80,000,000& » 14! 80,000
= 40,000
Al 40,000
OSgs joEaY A=
200,000,000& * 14l 200,000
= 100,000
Al 100,000
Z2Y =3 Tz 22k AA 70,100 45,360 24,740
307 glz2+ol & 70,100 45,360 24,740
10 A3l S X2 X 70,100 45,360 24,740
OZd2g &g T2 2| 2 37,100
> Q1 24| 1,800,000& »121«12& 21,600
D40l BEE=(2Y) 3,900,000& =14 3,900
> as23dl 5,800,000& »2¢! 11,600
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OZ2g LeA2d2s 28 29|
5,000,000 » 14! 25,000
OZ2Y &aZ20d YHU3
8,000,000 » 14! 8,000
Z2E Mg Z20Y 2229 22,400 18,000 4,400
= 4,480
Al 17,920
307 glz2+ol & 22,400 18,000 4,400
= 4,480
Al 17,920
10 AtSI =X 2 X 22,400 18,000 4,400
OZd2d dg Tz e 29
22,400,000 » 14! 22,400
< 4,480
Al 17,920
d29 294 NA(EX) 941,339 946,588 A5,249
= 188,268
Al 753,071
307 glz2tol & 941,339 946,588 A5,249
< 188,268
Al 753,071
10 AtSI =X 2 X 941,339 946,588 N5,249
OZ2Y 234 941,339,000 » 14! 941,339
< 188,268
Al 753,071
LosX& JsEY A 30,000 0 30,000
402 RIZ2EXt20l ™ 30,000 0 30,000
01 RIZERt2EX 30,000 0 30,000
OFFAl LeSE=sI2 Js2d
30,000,000& » 14! 30,000
LA JIsEd AY 21,000 21,000 0
402 RIZEX20| A 21,000 21,000 0
01 RIZERI2E X 21,000 21,000 0
Oona JIs2 3,000, 000% *7H & 21,000
d2Y &3 N& 122,500 0 122,500
201 et 7,500 0 7,500
01 At 22l 7,500 0 7,500
OZ2Y ILY2NY 254
7,500,000 » 14! 7,500
301 et a =z 115,000 0 115,000
01 MEIBEE 2063 115,000 0 115,000
OZzg F2L=X& 115,000, 000& * 14 115,000
Lol oot B 16,600 18,600 A 2,000
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23 H2d soted =M K& 9,100 9,100 0
307 glz2tol & 9,100 9,100 0
10 AtSI =X 2 X 9,100 9,100 0
OZ& oz sotgd=sH X
9,100,000 » 14! 9,100
HOIE=Z el XA 6,000 6,000 0
307 gl2tol & 6,000 6,000 0
10 AtEI S X2 X 6,000 6,000 0
OFY, & HOEZ UHal ¥ A A
6,000,000& =14 6,000
Colag A& 1,500 0 1,500
307 21201 A 1,500 0 1,500
03 At2lEHHE2XZ 1,500 0 1,500
Ost=2olagA(3as) 1,500,000 100 & 1,500
Colotd g e s 1,917,397 1,600, 329 317,068
= 744,698
&2 128,732
< 72,403
Al 971,564
HHOlYE & Lololy &At 51,100 45,000 6,100
201 ¢er24] 1,100 0 1,100
01 At 22l 1,100 0 1,100
Oudoleg ¥ eloe =4% 23 M
55,0003 «10JH 23] 1,100
307 gl2tol & 50,000 45,000 5,000
10 A2l S X2 X 50,000 45,000 5,000
Okelod &AL & A3&E 45,000,000 1A 45,000
OO0 0lE &AL 5,000,000& =14 5,000
ns 2 A FILA X 8,100 6,750 1,350
202 44l 8,100 6,750 1,350
01 S LHOIYI 8,100 6,750 1,350
Okol=X gR=2 675,000& 12& 8,100
Lo SsAMHIA 1,106,713 1,020,565 86,148
= 744,698
< 72,403
Al 289,612
307 gl2tol & 1,106,713 1,020,565 86,148
= 744,698
< 72,403
Al 289,612
05 RIZIRI & 3 526,513 447,097 79,416




2N
X ZH -
L= B

el

=
i

2

OLo=ss SEMBIAAMY 517,104,000 14|

9,409,000 14!

i

o
o

O
Jn
N
H
e
oo
ul
e
2
]
H
=)
)

MHEIA AR 430,200, 0003 * 14!

50,000, 000& » 14!

= HnH = N H = N W

=z N H

517,104

361,973
31,026
124,105

9,409
6,585
565
2,259
580,200

430,200
301,140

25,812
103,248

150,000
75,000
15,000
60,000

573,468

6,732
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4,900
3,232
1,668

5,400

A 500

= Al

4,900
3,232
1,668

5,400

A500

SCHARS 70,000& =701

= M

4,900

4,900
3,232
1,668

5,400

A 500

30,000

30,000

206 M= Hl

30,000

30,000

01 M= dl

OSHIE E=¢cl

3,000,000 * 1090 &

30,000
30,000

30,000

2ALOl NRAY

= [t

709,720

125,500
584,220

463,750

245,970

307 21201 &

= M

709,720

125,500
584,220

463,750

245,970
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>
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o
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250,000,000& * 14l
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709,720

439,720

67,500
372,220
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192,000
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245,970




SN ALSI S X
Ha: Lo=X B3 2 DAL 29
el LOlotA 9 ARIEA (el:de)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OMAS MOH-ol AAE NRSAR 2
[N 20,000,000& » 14! 20,000
SHEO ZSMEINE AMEMY 29 3,600 3,600 0
307 glz2+ol & 3,600 3,600 0
10 AtEI =X 2 X 3,600 3,600 0
OsHEe ssd4ENy 29
3,600,000& *17H A& 3,600
KO-l ASHE ALY 3,264 3,264 0
201 Yete2 | 3,264 3,264 0
01 At 22l 3,264 3,264 0
O1 Let==ZH| 3,264
DXHEQ AXNEE 20 S| AIES
16,000& 1721 x12& 3,264
FEANE 2tel 707,718 265,643 442,075
= 220,000
< 44,000
Al 443,718
SHEE 29 262,968 261,943 1,025
201 LBH2d| 218,328 218,103 225
01 At 2t 2l 7,772 8,852 A 1,080
O1 Let==EH| 7,452
D& 22 1,500,000& 14 1,500
DIEHE SE2 WIILEEE Y ===
79,0003 27| *243] 3,792
et XNFHIIS Mel 84
540,000 *43| 2,160
O4 ISH(FFEHILRA) 320
>ot= 100,000& 10! 100
b= 100,000& =12l 100
D> ets 70,000& x1¢! 70
> ot & 3t 50,000& =1¢! 50
02 =224l 210,556 209, 251 1,305
O1 3322 ¢ AA 16,300
DEEHE MIIZ 1,300,000 »12& 15,600
DEINERES 50,000& *23] 100
PExsHE 150,000& x4 3] 600
O2 ¢zl 184,256
DOl ¥ e e
1,356 *8Al 2+ x 1052 «50H 5,696
Dot SEZ 23 178,560,000& 14 178,560
O3 A€ ZHI =Xt 10,000
DS &E(309.95m) AE S|
10,000, 000& 14! 10,000
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Ab3l = X1

b
Hu: L=k X YL FIANE 29
CHRl: P AIE 22 )
- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
202 04| 3,600 0
01 2Ll 3,600 0
OXROUA HR2FA 300,000 x12& 3,600
401 Al HI L £ 0HHI 40,240 0
01 Al& H| 40,240 0
OStEE Xt DA 8,000,000& *27]| 16,000
O3zt&E& B XAIE B4
12,120,000 =2 CH 24,240
405 XHo&HF S HI 800 800
01 XA 2 ZF S| 800 800
O FANEEHE HSI 2 800,000 = 1LH 800
SHed AFREXE 22 4,750 1,050
201 LBt Y| 1,000 A 200
01 AP 22| d| 1,000 A 200
O1 LBt=24| 1,000
DE2AHD SHHAAIYX} 2DS 500,000 23| 1,000
301 LBt A= 3,750 1,250
01 Al E & X 462 3,750 1,250
OseA AP X &redl ] 750,000& x5+ 3,750
SIEZ WM AFY 440,000 440,000
= 220,000
& 44,000
Al 176,000
401 Al HI L £ 0HHI 440,000 440,000
= 220,000
= 44,000
Al 176,000
01 Al& B 440,000 440,000
Ozt HES 220,000,000 *27| 440,000
= 220,000
& 44,000
Al 176,000
F0=X 243t 40,000 40,000
=3l 2 XANAS 40,000 40,000
OtSsl& 22l 40,000 40,000
401 Al HI L £ 0HHI 10,000 10,000
01 Al& B 10,000 10,000
oarsa & 24 10,000, 000& = 1Al 10,000
402 BI2H X201 M 30,000 30,000
01 QI2t X2 X 30,000 30,000
Oflsa & 24 30,000,000 x1A! 30,000




S ALS =R
I YRES(AE =)

@2 WEHAHXE(AE S XD (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
MWEES(AMISX ) 4,261,914 4,229,575 32,339
WEHAX S (A EX L) 3,741,914 3,709,575 32,339
AZSHAMEYE dE= 3,422,450 3,395,563 26,887
701 JIEISI AN E 3 3,422,450 3,395,563 26,887
01 JIEtsI HEES 3,422,450 3,395,563 26,887
OAz=0HME dE3 3,422,450,000& 14 3,422,450
HASE 4T ANEZ 2BHAY &3 319,464 314,012 5,452
404 SO MENES 319,464 314,012 5,452
01 BIILELINHUNENES 319,464 314,012 5,452
OMASE 4T AEE HEUMY HES
4,590% «5,800A4I CH+12& 319,464
RSN 520,000 520,000 0
Xl 2 xH & 2t 520,000 520,000 0
311 Xt S0l A& & 520,000 520,000 0
01 Al-Z - FXNENLII =KL S0I Rt 520,000 520,000 0
O=Z2ZAYEY =LA
13,000,000, 000& *4/100 520,000
HE2AAH 104,898 100, 267 4,631
ol 2FHI(ALS S X 2t) 55,151 50,856 4,295
QlA2IHI (AL S X 1) 55,151 50,856 4,295
101 14l 55,151 50,856 4,295
01 2= 55,151 50,856 4,295
OAZA22Y 8,754 x2121 x25A| 2t % 12& 55,151
Jl2Z I (Atsl = Xl 1) 49,747 49,411 336
Jl2del(Atsl S X 1) 49,747 49,411 336
201 2et24d] 35,731 35,395 336
01 At 22l 26,163 25,827 336
O1 gt=2Hl 19,107
PEMN2I=EH 19,107,000& =14 19,107
O5 =&l 7,056
DOt 522 R 7,000 x2121 43| x 128 7,056
02 2324l 9,568 9,568 0
O1 3322 ¢ HA 8,568
DRERS 8,568
osJseH 1,750& 3004 128 6,300
ogetea 2703 x700H x12& 2,268
O3 A& & HlIs X bl 1,000
> = AJl 7 X4l 500,000& »2CH 1,000




SN ABI=TD
Mo HEeAAY

¢l J23HI (Al S X 1)

SA - ZE-B(EA) - NRAY - B S il &t o il
202 o4dl 9,816 9,816
01 = LH o4 1l 9,816 9,816
OJlege=adul 818,000& »12& 9,816
203 YR =2t 4,200 4,200
04 NI FAH 4,200 4,200
ORA2EIRFAHI 350,000& 128 4,200




